the AlF2EoA V5842 Zre gol1, Vb =2352 4w, a+b
e

T 0 1 2 3 4

5.0 | 2.345 | 2,347 | 2,349 | 2.352 | 2.354
5.6 12,366 | 2369 2371|2373 |2.375
0.7 12,387 (2,390 | 2,392 | 2,394 | 2,396
5.8 12,408 | 2,410 | 2,412 | 2,415 | 2,417

@ 7.217 @ 7.548 @7.947 @ 8.132 ® 8.492

~EB ~
V5.84 = 2.417
V5.53 = 2.352
. a=2417 ,b =553
s a+b=2417+ 553 = 7.947




2.

x ol TR oA x2 +ax—157F (x+p)(x +q) =

o groz AgslA) ohe ALY

® 14 @ -14 @—8

@ 2

~&B

x> +ax—15= (x+p)(x+q)

-15=> -3x5->a=-3+5=2,
_15=3x(-5) >a=3-5=-2
152 (1) x15sa=-1+15=14
155 1x(-15) sa=1-15=-14




3.

992 —1=100x98 Y= APst=tl 7Fg Lot A2

® a* +2ab + b* = (a+ b)?
@ a*-2ab+ b* = (a-b)?
@)a?-1* = (a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

992 — 1 =992 — 12 = (99 + 1)(99 — 1) = 100 x 98




@0  @e ® 4

Fol1 412 A3
3Ax%2 - 15x—6x2-2=0
(BA—6)x>—15x-2=0

A =20]H 34 - 6=00]B& Az} Alo|c},

o 1




10 @1 @ 12 ® 13

Ao 45 x2f ohd X2 - 18 = 7x
¥ —-Tx-18=0
(x=9)(x+2)=0
x=9F=x=-2

© x=9(x>0)




ojAFR f(x) = —x* +ax— 1ol Wt f(1) =2, f(-1) =b & T,
b

O 3ta+b 9 FH2?

@ 2 @ 1 ® 0 @—2 ©® —4

f)=2, -1 +ax1-1=2, -1+a-1=2
La=4

flx) =-x?+4x-10]B2
f(-1)==(-1)2+4(-1)-1=-1-4-1=-6
o b=-6

La+b=44(-6)=-2




A AT (4 ) AT WA O ) § A 250
—j—qﬂiého]_]’@#ﬂo]y:a(X—p) d o, apg & FH2?

@ 3 ® 5

y =ax?+bx+c & FAF0] (-3, 1) °]
y=a(x+3)?+1
A (0, -2) E AUE=

=

1
=a(0+3)%+1 La=-—=
1
y=—§(x+3)2+1 o|t}.
1
La=-g. p=-3¢=1 ojmz

apq:—%x(—3)x1:1 o|t},




V225 - \/(—6)2+ \/(—3)2><24— \/5—2_(_\/3)2

=15-6+ /(3x2%)°~5-3
=9+12-8=13




2 5214 9191 M A, B, C, Dol t-85H= = 43-2,2V5-5,10—
35, VaTOIth. A Aol S 58 o, A Bol 3oL 4 be}
S, a+ b9 S F5HH?

) A ) ) B CD |
-2 -1 0 1 2 3 4 5 6

@D 3v3-3V5+10 @ 4V3+2v5-7
® 3V3+2v5-5 @s- V5
® V3-2

B ~
4V3-2= V48 -2=4. x xx: C
2V5-5=V20-5=—0.xxx: A

10-3V5=10—- V45=3.xxx : B

V27 =5.xxx : D

a=2vV5-5b=10-3+5
na+b=(2V5-5)+(10-3v5) =5- V5




10. Al A4 A= v20+ V80, B= V21 + V79, C = V224 V78 & &
LA vt2A B 222

DJA<B<C @ A<C<B ® B<A<C

@® C<A<B ® C<B<A

A, B, C 7t B F5o|BR 4%, B2, €2 & oA v LT
ot
2
= (V20 + V80)
=204 2+v20x 80+ 80 = 100 + 2 v1600

= (V21 + V79)?

=21 +2V21 X 79 + 79 = 100 + 2 V1659
C? = (V22 + V718)?

=22+2v22x 78+ 78 = 100 + 2 V1716

V1600 < V1659 < V1716 ©|E& A2 < B2 < C?
LA<B<C




11. 2(x+2)2+ (x+2)(3x— 1) = (3x = 1)2 = —(ax + b)(cx + d) ¥ T,
ab + cd ©] & F3H? (H a, ¢ = FF)

@-1 @3 ® 0 @ 2 ® -2

~&B

x+2=A, 3x—1=BE *|&olH
2A2 +AB-B?>= (2A-B)(A+B)
=(2x+4-3x+1)(x+2+3x-1)
—(x—=5)(4x+1)
cab+cd=1x(=5)+4x1=-1




12. B2 F (a-2)(b+1)=0& WHZESt=a, b

i

e

ar

al!

7l

kel
—

?

@a=2,b=1 ©a=3b=1

©a=1b=-1 ®a=2b=-1

®a @ © ®®
® 6,0 ®a.e.@

a-2=0%=b+1=0
a=2E=p=-1

etd @, ©, @°IH.




13.

ax? +bx+c =029 22| /45 FLspH?

@ o] ZAJstA] grert,
@ RE %] a4 T

©® % % g,

MR G2 AL g b, col Ut a+b+c =09 0, o]z

B

WA gx2 4 bx+c =0 2] THHA D = p?
2 OB D = (—a—c)?
a#c, a—c;tOO]UE(

O|ZAFFA A ax? +bx+c =02

¢)? >0 °Jt.

—dacb=-a-c
—dac=a?>-2ac+c®=(a-c)?> 20

MZ T2 Z o Are




14.

@ 90cm? @ 92cm? @ 94cm?

8

o
)
o
Lo
)
=
i

Z40o]E xcm, WOlE ycm? 2t 5HH

x(

=
I
[\
oo
|
=
e

(—x* + 28x)

N~ N~
—_

= —E(x2 — 28x)

1
= —5(x— 14)2 4+ 98




15.

AF 22m EE YA|o A 25 30m 2 Y2 94 &
o]Z pm 2} 5HA h = 512 + 30r + 22 Q1 TAZF A
% Fof| 1l oo o=

W&, HI ﬁ

1z @ 2% @35 @ 4=

~&B

A5 x 9
Het o] 32
®5x

h=-5(-6t+9-9)+22
= -5(t-3)2 467

r=3 2, A h =67




